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Practice Problems (Level 2)

10.

Acylindrical glasstube of length27.75cm andradius2.00¢cm is filled with
argon gas. The empty tube weighs 188.25 g. The tube filleq with argon
weighs 188.87 g. Use these data to calculate the density of argon gas.

Find the weight of 250.0 mL of benzene. The density of benzene is
0.90. g/mL.

What volume of silver metal wil| weigh exactly 2500.0 g? The specific
gravity of silver jg 105

What is the weight of 215 L of hydrogen sulfide gas if the density of
hydrogen sulfide is 1.54 g/L?
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